RERBERSHRE=4)JHRAE (B 10E) #R (RAMEE - EOR- L BR)
(FR27498A178~98 11 BEH)

RF HKERMH RAL (REHRYD)
BERKEREABRFHID

N ERREEAEE 4 Sv/h)
AEEE = .
" o B AL (RS
No | WETH | K5 | #SEROER HRBEEID | @mmAA | s0om A (PRRUAR & FIIE gomy | “BUASOAD s
EEE
o D) ol e | @ | e | 2% | Sk [Homm|gomm
| ws T | T | BER | AER
50cm 0.09] 0.12
4538 (AR
im 0.09/ 0.09
50cm 0.10] 0.11
st (T )
im 0.09/ 0.10
83 ENES) B |ZF7E 8A21H
50cm 0.09] 0.09
ARATHE
im 0.08] 0.09
50cm 0.12 0.10 0.12 0.10 0.13] 0.11 0.12]
G
im 0.11 0.10 0.11 0.09 0.12] 0.11 0.11
50cm 0.11 0.12
SRLOE ()
im 0.10] 0.12
50cm 0.11 0.10
SRLOE (TR
im 0.10] 0.12
84 E)s EOR |EOR f=Fhbh 8A24H
50cm 0.10 0.10 0.11 0.11 0.12] 0.11 0.10]
S (L)
im 0.09 0.09 0.11 0.10 0.11 0.10] 0.10]
50cm 0.11 0.11 0.11 0.14 0.15] 0.12] 0.13]
SHE15 ()
im 0.10 0.10 0.10 0.14 0.14] 0.12] 0.13]
50cm 0.08] 0.10
sz
im 0.07] 0.09
50cm 0.11 0.13
FENSBEEE
im 0.11 0.12
50cm 0.12 0.11 0.12 0.12 0.13] 0.12] 0.12]
15
im 0.11 0.10 0.10 0.12 0.12] 0.11 0.11
50cm 0.10 0.13 0.11 0.10 0.13] 0.11 0.12]
R
im 0.10 0.13 0.10 0.09 0.12] 0.11 0.11
85 ENES) B% | RA1/—It=FEID 8A21H
50cm 0.11 0.12 0.13 0.10 0.09] 0.11 0.12]
HagiE
im 0.11 0.11 0.12 0.11 0.09/ 0.11 0.11
50cm 0.11 0.16 0.12 0.13 0.11 0.13] 0.14]
HagiE
im 0.11 0.15 0.11 0.12 0.11 0.12] 0.13]
50cm 0.13 0.13 0.13 0.14 0.15] 0.14] 0.15]
o
im 0.12 0.12 0.12 0.13 0.15] 0.13] 0.15]
50cm 0.10 0.13 0.11 0.10 0.11 0.11 0.12]
INRETEL
im 0.10 0.13 0.10 0.09 0.11 0.11 0.11

KIFORAEMRILIE. FH27F4A8AN L4 A28 ITKELIESRREKSRE=SU I RE (RARFEIE) HERIH T HRIEE,

11




